
�����

����������

���������

��������

����

1.����
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���� RS-232 �RS-485 (�������) 

2.����
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���� 110	300	1200	2400	4800	9600 bps
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Data Bits � 8������������������

0 B0 B1 B2 B3 B4 B5 B6 B7 P 1
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�HEX����
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CMD ����1 BYTE 
XIDNO �
�!��1 BYTE 
CHNO "#$�Don’t Care �1 BYTE 
XADDR %&�'�1 BYTE 
XDATA1 ()*+HIGH BYTE�1 BYTE  

XDATA2 ()*+LOW BYTE�1 BYTE 
CHKSUM ,-��1 BYTE 
� CMD R.READ�/0��12() 

M.MODIFY�340��*56��() 

��
�7894:	#$M;�<34�=	>?@ABC

�D"34EF �=G

W.WRITE�HI0��*�EEPROM 

R�

��

�M�

��

�WJASC�
��

� CODE�
��

�
HI0���HEX CODEK

LJR:52H�

��

�M:4DH�

��

�W:57H�

� XIDNO /1(01 H)~100(63 H)

�MN��J0	
��
�� OIDNOP����

� CHNO QR=(00 H ~ FF H)

� XADDR 0��*�ST��=>UVWX��'	YZ6.[\
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(even parity) ����
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� XDATA 1 ()*+�
��

�DATA�
��

� HIGH BYTE

� XDATA 2 ()*+�
��

�DATA�
��

� LOW BYTE

� CHKSUM ,-��

��

�CHECK SUM�
��

�JF]T�^E_	`�abcdeG

EX�
��

�4DH + 01H + 00H +00H +03H +E8H = 01 4AH

,-��

��

�CHECK SUM�
��

�= 4AH

�

��

�HI�

��

�Write�
��

�0��f	
HI7�BYTEgh�()

CMD XIDNO CHNO XADDR XDATA 1 XDATA 2 CHKSUM

�

��

�12�

��

�Read�
��

�0��f	0��?Ai8�BYTEgh�()�jk\l�
��

�07H� 
� � 

� 

07H CMD XIDNO CHNO XADDR XDATA 1 XDATA 2 CHKSUM

5.��!"
��!"��!"

��!"

� n0���op3qJrstuvw	0���!�Jsx

� CMD M<yz�HEXJ4D H
� XIDNO 20 �10`�{|J16`��14H
� CHNO QR=�200H 
� XADDR SV�XADDRJ00H
� XDATA1 

�

��

� XDATA2 1234�10`�{|J16`�a@}04D2H

� CHKSUM 4DH + 14H + 00H +00H +04H +D2H = 0137H
<c
~�� HEX CODE J.4D14 0000 04D2 37

� n0����p=1A	0���!�Jr

� CMD R<yz�HEXJ52 H
� XIDNO 1�10`�{|J16`�� 01H
� CHNO QR=�200H 
� XADDR PV�XADDRJ80 H 
� XDATA1 & XDATA2 = 0000H
� CHKSUM 52H + 01H + 00H +80H +00H +00H = 00D3H

<c
~�� HEX CODE J.#$%&�%%'%�%%%%�()
#$%&�%%'%�%%%%�()#$%&�%%'%�%%%%�()

#$%&�%%'%�%%%%�()

�

��

����100ms�
��

�

0��n?iA�07 4D 00 00 00 xxyy zz

bcde

PV=
CHECK SUM=4DH + 00H + 00H + 00H 
+ xxH +yyH(M$j�\l 07H)



6.*+
*+*+

*+(XADDR)
,-

,-,-

,- XADDR ,-

,-,-

,- XAADR ,-

,-,-

,- XADDR ,-

,-,-

,- XADDR
PV 80H OUT8 20H D2 42H UNIT 64H
OUT% A3H SV_12 21H CYT2 43H SOFT 65H
SV 00H TM_12 22H HYS2 44H CASC 66H
OUTL 01H OUT12 23H GAP1 45H OUD 67H
AT 02H SV_22 24H GAP2 46H OPAD 68H
AL1 03H TM_22 25H LCK 47H HZ 69H
AL2 04H OUT22 26H INP1 48H SET1 6AH
AL3 05H SV_32 27H ANL1 49H SET2 6BH
PTN 06H TM_32 28H ANH1 4AH SET3 6CH
SEG 07H OUT32 29H DP 4BH SET4 6DH
TIMR 08H SV_42 2AH LSPL 4CH SET5 6EH
SV_1 09H TM_42 2BH USPL 4DH SET6 6FH
TM_1 0AH OUT42 2CH ANL2 4EH SET7 70H
OUT1 0BH SV_52 2DH ANH2 4FH SET8 71H
SV_2 0CH TM_52 2EH ALD1 50H SET9 72H
TM_2 0DH OUT52 2FH ALT1 51H SET0 73H
OUT2 0EH SV_62 30H ALD2 52H INP2 74H
SV_3 0FH TM_62 31H ALT2 53H OUTY 75H
TM_3 10H OUT62 32H ALD3 54H
OUT3 11H SV_72 33H ALT3 55H
SV_4 12H TM_72 34H HYSA 56H
TM_4 13H OUT72 35H CLO1 57H
OUT4 14H SV_82 36H CHO1 58H
SV_5 15H TM_82 37H CLO2 59H
TM_5 16H OUT82 38H CHO2 5AH
OUT5 17H P1 39H CLO3 5BH
SV_6 18H I1 3AH CHO3 5CH
TM_6 19H D1 3BH RUCY 5DH
OUT6 1AH DB1 3CH WAIT 5EH
SV_7 1BH ATVL 3DH SETA 5FH
TM_7 1CH CYT1 3EH IDNO 60H
OUT7 1DH HYS1 3FH BAUD 61H
SV_8 1EH P2 40H SVOS 62H
TM_8 1FH I2 41H PVOS 63H


